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Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead penicil.

BIOLOGY SSC-li

SECTION - A (Marks 12)
Time allowed: 15 Minutes

Fill the relevant bubble against each question:

Sign. of Candidate

Sign. of Invigilator
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Skin colour of

More mucous

Destruction of patient ig produced in
Which of the following options is related to alveolar wail Lung tissue is becomes air
1.  Emphysema? occurs O filed with pus () purplish (O passageways
g R (1 N YA WALt A, wii e RS
arde el e den 1317 e
Select an example of commensalism from Lion and Termite and Sucker fish )
,, thefoliowing Zebra protozoan and shark O F‘ox and rabbit
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A horizontal underground stem with scale _ -
3 leaves and nodes is called: Tuber O Bulb Rhl}0n1e O 7
LWL i g, 2 Preti 7 i o Pl 2

The given diagram is reproductive system of
a male rabbit. Indicate the vas deferens
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Digitalis a heart stimulant is obtained from Bacteria Fungi C) Poppy O Foxglove
5, h . " O ) -, Py
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Lack of Decrease of _

Deficiency of physical growth Dfegaerr;”earggon

6. Which may NOT be a cause of Osteoporosis O estrogen O a/ctiwty . ) hormone O ? by
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Presence of Less number
Which of the following is NOT a Have deep parenchyma Have broad of stomata is
7. characteristic of Xerophyte? roots cells leaves present
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Select the histone_ protein from the diagram
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How many kinds of gametes can be formed
9 by an organism having a genotype BbCc?
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Helps to Detects
maintain Helps in movement of
10 Which one is NOT the function of inner ear? Balance O Produces wax O hearing O head
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Select the product which can be used for the

production of bread:

Lactic acid

Glycerol Ethanol Formic acid
11; - ¢
St Tl lbda hybwf O LA O J,/r O J74 O A8
12 Select a drug reducing irritability: Antibiotic Sedative O Analgesic O Vaccine
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